


In the given figure, AB=BC=CD. If _~
BAC=259, then value of Z AED is:

& 1§ sfa # AB=BC=CD. ¥ IR
/BAC=250, ¢ @ _~ AED &I AT g7

(a) 500 (b) 60° @
(c) 65°

\H 75°



In AABC, £A=52° and O is the orthocentre of the triangle (BO and CO meet AC and
AB at E and F respectively when produced). If the bisectors of ZOBC and 2Z0CB meet
at P, then measure of ZBPCis?

AABCH, £A=52° 3R O UF RS &1 oFa Foxt ¢ | (BOAR coFae: EAR F
W ACTT Aaﬂmﬁﬁmﬁmmaﬁr%l gfe 20BCHR 20CBF
gfasmes P e &, @t zBPCE?

(a) 124 °
(b) 132°
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".PQRS is a cyclic quadrilateral in which PQ=14.4 cm, QR =12.8 cm and SR = 9.6cm. If
PR bisects QS, what is the length of PS?

PQRS U&F ThHIT TN 8, fTWA PQ=14.4 cm, QR=12.8 cm 3 SR=9.6 cm §1 3R
PR, QS F gfafaHTfara FXar g, dl PS &I FFaT§ FAT §?

(a) 15.8cm
(b) 16.4cm
(c) 13.6 cm




f each interior angle of a regular polygon is (128%)“, then what is the sum of the

number of its diagonals and the number of its sides?
afe Rl wagee &1 4% aia For(128-)° 3 )t 38% Rt $r s
AR FEHT ST T T FT AT T 2
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.In AABC, 2A=90° AD is the bisector of ZA meeting BC at D, and DE 1AC atE. If AB
=10 cm and AC = 15 cm, then the length of DE, in cm, is:

AABC &, £A= 90°, AD, A T THEIIHTS® ¢ AT BCH' DIT I DE LACH EW
forerar 81 3 AB=10 @+ 3R Ac =15 @+, @Y DE & FarS, A #,§




.In AABC, D and E are the midpoints of sides BC and AC, respectively. AD and BE
intersect at G at right angle. If AD = 18 cm and BE = 12 cm, then the length of DC (in

cm) is:

AABC#, D HIT EFA: T BC AR ACF #ew fag &1 AD 3R BE WHSIT W 6
wwﬁ?ma’l?’f%l Ife AD =18 cm 3R BE=12cm%,F|’f DCffﬂ'ﬂﬁ'(cmﬁ)
AT AT 3|9 Pﬁ I\

2-5|2- 2> 8
(a) 6
o
(c) 8

(d)9 .ED _




PQRS is a cyclic quadrilateral in which PQ=xcm, QR=16.8cm, RS=14cm, PS =
25.2 cm, and PR bisects QS. What is the value of x?

PQRS U&F ThIT a;gia IREEL] PQ=xcm,QR=168cm RS = 14 ¢cm, PS = 25.2 cm
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Two circles of radius 7 cm and 5 cm intersect each other at A and B, and the
distance between their centres is 10 cm. The length of the common chord AB is:

7 ¥ 3R 5 A B F &) g9 oF qEY F AIR BW Fed € IR 39S

Fal & T i gt 10 Jo § Ffrss S Asﬁﬁm © 24— (o)

a) (3V74)/5 b) (2V/74)/5 A= |o-—_|§g.
¢) (3V66)/5 \,dﬂfh/ 66)/5 xs%



In the given figure, O is the in-center of triangle ABC. If AO/OE <(5/4 and CO/0OD =
@then what is the value of BO/OF?

ﬂﬂéaﬁﬁ-’r#ﬁﬂamcmmaﬁo%l IlﬁAO/OE 5/4 TYUT CO/OD = 3/2

¥ ) BO/OF FT AT 4T &2 H—G:H:K - S92
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In the given figure, PR and ST are perpendicular to tangent QR. PQ passes through
centre O of the circle whose diameter is 10 cm. If PR = 9 cm, then what is the length (in
cm) of ST?

& a$ NHTAT A, FTAAN W QR W PR AT ST FFa 81 PQ T & &g g 0 @
Todl § ws =g 10 {.AL g1 I PR AT aFag 9 AL B, A ST AN
aFars (A /) Far B2

R M T 0.5 ‘ ! 1>
i (b)1s @
(c) 1.5 (d) 2




A triangle with side lengths in ratio 3:4:5 is inscribed in a circle of
radius 3, What is area of A?

U A T AT 3:4:5 F HqUd A g, 51 3 YA B a qm
tmmm%mmmwmv




In AABC AB=6 AC=8 BC=10 & D is midpoint of BC. What is sum of radii
of circles inscribed in AADB & AADC?

fX3sT AABC#, AB =6, AC=8,BC=10 @UT D, BCH Hedfawqg ¢l Pegar
ADB YT 85T ADC# 3eX T T4 gul 1 B3 F Fer
gram? .91(432,.




Consider all triangles ABC satisfying AB=AC it is a point on AC for which
BD 1 AC, AC & CD are integers BD’= 57 ,Among all such triangles smallest

possible value of AC?

3 weft Perar St AABCHY o T A ¥, AB=AC, ACTR Ud w&F A
fawg & or& fOd BD L AC, ACTYUT CD YUt HEAT g, BD* =57 Wit
waa S # ACH FAqH AT FIT G 2

(a) 9
(b) 10 @ ‘BDQ;: ABEAD

(er11 = AC= A i
@12 NADAIg =(AC+ -
O S
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InAABC,a=5,b=4, c=3,, Giscentroid of A find circum-radius of
AGAB.

frer ABCH,A=5,b=4,c= 3Gﬁﬂmmm%ﬁﬂmamaaﬁr

EE'E ?na HfaT? %
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43.In AABC,a=5,b =4, c=3,, G is centroid of A find circum-radius of
AGAB.

37sT ABCH,A=5,b=4,c=3,G & &1 FaF &, BT AGABHT
areT BT Ara fifee?

(Ans.5vVil/12)
In AABC, we have AC=BC =7, AB=2, let Dis a point on line AB such
that B lies between A& D & CD =8. What is BD =?

37T ABCH, AC=BC=7, AB=2, #TT DYAET AB IR Fua fawg 8, 59
YHR B, ATUT DF i Rua & BfECD=8,BD=?
(a) 3

\ — g (b) 4
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In AABC side AC & perpendicular bisesctor of BC meet in point D, BD
bisects ZABC, If AD=9 & DC =7, area(AABD) ?

ST ABCH, 8TSIT AC YT BCHT oFd FHEAHTSH [deq DI fAad

8, BD, LABC &T HHE
TG = ? (079 &

(a) 14 %tz
(b)21 AAPET o

(c) 28V5 Q1% =32.= {3




AABC has side lengths AB = IZAC = 18 the line through in-centre of
AABC parallel to BC intersects AB at M & AC at N, what is perimeter of
AAMN?

fsTsT ABC#Y syamait Y FaT$ AB=12, fc=18 §, Ferer ABCEF 3
AvMnHAN & T S aTell 1@ BCHF WHIGT § TUT ABH M T AR ACH N
AMi MTAINARR Fredt §, Borsr AMN F1 aRars a1 g




. In right angled triangle ABC, BD divides triangle ABC into two triangles
of equal perimeters, BD =?

AT A% ABC #, BD %{sT ABC #I a1 HAT

% Rsa w<dt & BD=? A
(a) 25 C&ﬂﬂ .
NoT247/5 Y e -

(c) 20V/5 'lL_ S0HH0-X

(d) None /8 9\’\&‘37@*%

@ 21 = Yove-n—
A= 8vo-S(RD

= Q280
A= %258




In AABC £A=96°, Extend BC to an arbitary point D. The angle bisectors
of LABC & ZACD intersect at A, and angle bisector of ZA, BC & £ZA, CD
intersect at A, & so on. The angle bisector of A;BC & A; CD intersect at As.

LA5=?
AABC &, £A =90° BC #t f4vg DdF FGAT AT &1 2ABC X 2ACD &

FIT FAGANATS TH-GHY H AT FIed § 3 LAFT Hor
Bbmzﬁmscaﬂ'\r C FT FIT FAGAATS CD,A, W T&H gAY &I
7 @ ¥ 3k e amr s g ¥ £A,BCHT FHIUT FHAGIANTS U
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In AABC,Cis a right angle, AC & BC are each equal to 1, D is midpoint of

AC, BD is drawn & a line perpendicular to BD at P is drawn from C. find

PCI"' 3‘?’?[;_' distance from P to intersection of medians of AABC?

T 3 AABCH CHABIUT g, ACHR BCYAF 1% D, ACH Ay fag &, BD
- "E di=ht a1 & aur v Y@ BD#WPWVC#\&?@ ¥1 AABC
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In AABC, AB=5,BC=7,AC=9, Dis on AC with BD =5, find ratio of AD:
DC=?
AABCH, AB =5, BC=7, AC=9 % D, A%‘R’ mﬁl'%, BD =5, AD: DC &l

FAqTd AT AT ‘3214:5@3"1’*)
3 3
(a) 4:3 G on=11
\Jbr19:8 S x=1
(c) 13:5 6
(d) 11:6 r (D)= 113
N X




In AABC, AB =10, AC=7 & BC =8, How do we need to slide it along AB
so that area of overlapping region (A'BD) is one half area of AABC?

AABC#, AB =10, AC=7 3R BC=8, §H STHI AB &Y 3’ fhaen
mf@'ﬂﬂ,ﬁw {17 A’BD FT &% AABC & @T%hol T 3TUT &1 I

- Pl ogper
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In triangle ABC, AB = 6cm, AC=8cm, and AD= = Cm.
23 J_ SWhere AD is the median on side BC then find the area of }\
(2 2 R
I _ J%esC triangle ABC, AB = 6cm, AC=8cm, 3 AD= ‘”219 Cm. ¥ 5@
AD T BC 9T AT ¢, aaﬁAchﬂmws’nm
<D (a) 2 45 cm’  (b) 4y9lem) A (c)  4Y455cm’ Naasscm
oL (ld*
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In the given figure find PC ?
e arr /T &, PC &1 AT AT Y ?

S '
()48  (b)38 (c)6.25 (d)6.75



In the given fig AABC is a right angled triangle, the length of in-radius is
2.5 cm and hypotenuse is 30.5¢m. Then find the area of AABC?

e 7w =& A, AABC TS FHSHIT (efer § former 3 ga 1 B
2.5cme AR HUT 30.5cm & d9 AABC & &I%d ATd Y 7

A= NAFK

— €S+ DX 6\ 5 =GL
6ASY % . 30 -
= 63547625

— g ‘{ B b C
@ (a) 130 cm? (b)65 cm? ()90 cm? f@n*



In the given figure , BH is angle bisector of ZABM ,BHLAC and BM is
angle bisector of ZABC also MB= MC then find the value of ZA=?

iG¥ T fIF A, BH, LABM F HHGIAHISTH & , BHLAC § 3N BM,
Mscwwaﬁﬁm%aﬂma=mc%ﬁm$rm$mM7

lDﬁ—a]gbu ‘h

Y0—73°

(a) 90° /({)72" (c)100° (d)80°



